A‘on the arabol at which
the creases at twice the rate of
R b
='oe N Y182
\)6{ (_’ _J (b) (2> _4) /

ABLES om



es KOTA

The slope of the{ normaﬁto the curye— — 1 - b, ;
7@1) X = acos@ y=a SlIlq@t 0 és 0 Uj/om [
A';/ 66{ lo SO
_ 2 /
(b) ,% l-a sm@,y b cos B_ﬁts

ii bg) n@) "Iy &H}Z

2D o
(¢) Both (a) and (b) are true b/d
\@%oth (a) and (b) are not true
) 4= 33D x-sing | 9427 g-3¢ i
a0 — — 7 A@ﬁxrsy@ Y\oxgmﬂ 7“/\0/ %
q

= 7‘.‘21:

M

Flos % Q) g @
P SOVQ%N: "L‘ v@
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The function f(x) = tan~!(sin X + cos X) ABLES .
1s an increasing function in
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Column-I
A f(x)=x2-
2x+51s

B. fix)= 10—

6xX —2x%2 1S
\_ﬁ

C. fix)=-2x>
Ox>12x +1

1S
\

D. £(x)=6—
Ox —x? 1S

Column-II
L. strictly decreasing in
(—o0,—1)and strictly
increasing in (—1,—o0).
2. strictly increasing in
(—0,-9/2)and strictly
decreasing in

N

3. strictly decreasing in
(—o0,—2)and (— 1, »)

and strictly increasing

m-=2,-1)

4. strictly increasing
(—o0,—9/2) and strictly
decreasing in

e
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E x+1)° 5. strictly increasing in

(x—3)1s (1,3)and (3, «) and
strictly decreasing in

(—oo,—1)and (-1, 1)

Codes

A B C D E
@ 1 2 3 4 5
b) 2 3 4 1 5
¢ 1 4 3 2 5
d 5 4 3 2 1



A circular disc of radius 3 cm 1s being
heated.Due to expansion, 1ts radius
increases at the rate of 0.05 cm/s. The
rate, at which 1ts area 1s increasing when
1ts radius 1s 3.2 cm, 1s

(a) 0.320 tem?/s (b) 0.160 mem?/s

(c) 0.260 mem?/s (d) 1.2 mem?/s
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_f{x) = cosx, g(x) = cos 2x, h(x) = cos3x and ABLES o

~1(x) =tanx, then which of the following

option 1s correct?

(a) {(x)and g(x) are strictly decreasing in
(0, /2)

(b) h(x) 1s neither increasing nor
decreasing in (0, 7/2)

(¢) I(x)1s strictly increasing mn (0, 7/2)

(d) All are correct
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